Chapter 4. Graphing Relations and Functions

Ex. 4.5

Answer 1CU.
Consider an equation y = 2x+1 with domains {1,2‘3,4} and the set of real numbers.

Make a table. The values of x come from the domain. Substitute each value of x into the
equation to determine the values of y in the range.

X| y=2x+1 ¥y [:r,_}f}

| y=2(0)41 |, (1.3)
y=2(2)+1 &

2|7 5| (25)
y=2(3)+1

3 . 7| (37)
y=2(4)+1

4 . 9 | (4.9)

The graph of the equation y = 2x + lwith domain {1,2,3,4}represent5 graph of four points
(1,3),(2.5),(3,7),and (4,9). Whereas the graph of the equation y = 2x+lwith set of real

numbers as domain represents a line.



Answer 1RM.
Consider the equation

y=x+2
The object is graph the equation using a graphing calculator in the standard viewing windows.
First turn on the calculator and click on to insert the functions against to Y.

Key strokes fo insert the equation y=x+2

Y =| [X,T,0,n

The display of the Tl-calculator:
ALl Flokz Flok:

Answer 2CU.
(@) Consider the equation
5p-7=0

To write the equations into standard form first rewrite the equation so that both variables are on
the same side of the equation.

5y=T7=0 Original equation
Sy=-T+7=17 Add 7 to each side
S5py=T7 Simplify

The equation is now in standard form Ax+By=C ,where 4=0,B=5, and C=7.

Therefore, the equation [5y—7 =0|is in standard formwith 4=0

(¢) Consider the equation
S5x=Ty

To write the equations into standard form first rewrite the equation so that both variables are on
the same side of the equation.

5x=Ty Original equation
Sx=Ty=Ty=Ty Add =7y to each side
Sx=Ty=0 Simplify

The equation is now in standard form Ax+By=C ,where 4=58=-7, and C=0.

Therefore, the equation |5x -7y =0|is in standard form with C=(

Answer 2RM.



Consider the equation
y=4x+5
The object is graph the equation using a graphing calculator in the standard viewing windows.

First turn on the calculator and click on to insert the functions againstto Y,.

Key strokes to insert the equation y=4x+5

[ =] [4] [X,7,8,n] [-] [3]

The display of the Tl-calculator:

FFE Flotz Flots
~YMi1Bd=+5
wMWe=
W=
mhy=
~Ne=

i E= I
wHe=

Graph the inserted equation

Key stroke to graph the equation: |Z.OOM IE

The display of the Tl-calculator:

[-10,10]sck 1 by [-10,10]scl: 1

Answer 3CU.

To graph an equation using intercepts, first find the intercepts made be the equation on the
coordinate axes.

To find x-intercept, substitute y =0 in the equation and solve for x.
If a is the x-intercept, then the graph of the equation passes through the point [a,[})
To find y-intercept, substitute » =( in in the equation and solve for y

If b is the y-intercept, then the graph of the equation passes through the point (0,5)

After determining the points at which the graph intersects the coordinate axes draw a line
through the two points.



Answer 3RM.
Consider the equation

y=6-5x

The object is graph the equation using a graphing calculator in the standard viewing windows.
First turn on the calculator and click on to insert the functions againstto Y.

Key strokes to insert the equation y=6-5x

[6] [-] [5][X,T.0,n

The display of the Tl-calculator:

A Flokz Flobz
~Y Be—-5=
wHe=
wWe=
~My=

wHe=
~NMeE=
o=

Graph the inserted equation

Key stroke to graph the equation: |ZOOM @

The display of the Tl-calculator:

E

[-10,10]sck: 1 by [-10,10]scl: 1

Answer 4CU.

Consider the equation
x+y =25

The equation has a term },-? which is not linear, so the equation cannot be written in standard
form Ax+By=C.

Therefore, the equation x+ Jr’- =25 is not a linear equation.



Answer 4RM.

Consider the equation
2x+y=6
The object is graph the equation using a graphing calculator in the standard viewing windows.

First solve the equation in terms of y.

2x+y=6
=2x+2x+y=6-2x Subtract 2x from both sides
y=06-2x Simplity

First turn on the calculator and click on to insert the functions against to Y,.

Key strokes to insert the equation y=6-2x

[6] -] [2][X.T0,n

The display of the Tl-calculator:

A Flokz Flok:
~EE-2E
wHe=

wWa=
~Hy=
o=
“MWE=
o=

Graph the inserted equation

Key stroke to graph the equation: (ZOOM @

The display of the Tl-calculator:

[-10,10]sck 1 by [-10,10]scl 1



Answer 5CU.
Consider the equation
3y+2=0

The equation has no term with two variables, so the equation can be written in standard form.
To write the equations into standard form first rewrite the equation so that both variables are on
the same side of the equation.

3v+2=0 Original equation
3y+2-2=0-2 Add -2 to each side
3y==2 Simplify

The equation is now in standard form Ax+By=C ,where 4=0,8=3, and C =-2.

Therefore, the equation 3y+2=0is in standard form and the standard form is

Ox+3y=-2

Answer 5RM.
Consider the equation
2x+y=06
The object is graph the equation using a graphing calculator in the standard viewing windows.

First solve the equation in terms of y.

2x+y=6
=2x+2x+y=6-2x Subtract 2x from both sides
y=06-2x Simplity

First turn on the calculator and click on to insert the functions againstto Y.

Key strokes to insert the equation y=6-2x

[¥ =] [6][H] [2][X,T.0,n

The display of the Tl-calculator:

A Flotz Flokz
~Y BE—25
wHWe=

wWe=

~Ny=

wHe=
“MWE=
wMWe=







Graph the inserted equation

Key stroke to graph the equation: 6]

The display of the TI-calculator:

[-10,10]sck: 1 by [-10,10]scl: 1

Answer 6CU.
Consider the equation

3 2
CI -
5 57

The equation has no term with two variables, so the equation can be written in standard form.

To write the equations into standard form first rewrite the equation so that both variables are on
the same side of the equation.

%x - % = Original equation
Ix-2y=25 Multiply by 5 each side

The equation is now in standard form Ax+By=C ,where 4=3,B=-2, and C=25.

Therefore, the equation %.\‘—%y = 515 in standard form and the standard form is

3x=2y=125

Answer 5RM.
Consider the equation

x=4y=8

The object is graph the equation using a graphing calculator in the standard viewing windows.

First solve the equation in terms of y.

x—4y=8
—x+x—4y=8-x Subtract x from both sides
—4y=8-x Simplify
y= B—_—I Divide each side by —4
., |
y=-2 +2



First turn on the calculator and click on to insert the functions against to Y,

Key strokes to insert the equation y=-2 +§

4
[ =][-] [2] [+] [X,T.8,n] [] [4]

The display of the Tl-calculator:

AME Flokz Flat:
Wi -2+X-41
W=
“We=

mhy=
~NWe=
~NE=
wWe=

Graph the inserted equation

Key stroke to graph the equation: (ZOOM @

The display of the TI-calculator:

[-10,10]scl 1 by [-10,10]scl: 1
Answer 7CU.
Consider the equation
1
x+—=17
J.I‘
Multiply each side by y.
xy+l=Ty
The equation has a term xy which is not linear, so the equation cannot be written in standard
form Ax+By=C.

1
Therefore, the equation x+—=7 is not a linear equation
y

Answer 7RM.
Consider the equation

y=5x+9
The object is graph the equation using a graphing calculator.

First solve the equation in terms of y.



First turn on the calculator and click on to insert the functions againstto Y.

Key strokes to insert the equation y=5x+9

[Y =] [s] [x,7,0,n] [+] [9]

The display of the Tl-calculator:

AME Flakz Flok:
~N i1 ES5X+91
o=
wHe=

~hy=
“NWe=
~NYE=
wHe=

Graph the inserted equation

Key stroke to graph the equation: |ZOOM @

The display of the Tl-calculator:

[-10,10]sck: 1 by [-10,10]scl: 1

It cab ne observed that the y-intercept is inside of the viewing window. Therefore the graph is

complete|-

Answer 8CU.
Consider the equation
x=3

Find ordered pairs from the equation by randomly choosing a value for x, replacing this value
for x in the equation, and solving for y as shown in the table.

x y | (xy)
3 5 | (3.5)
3 2 | (3,2)
3 0 | (3,0)
3 -3 [(3,-3)
3 -5 1(3,-5)




Graph the ordered pairs (3,2),(3,2),(3,0),(3,-3),(3,—5) and draw a line through the

points. Then the graph appears as shown below

4y @
44
34
r=3
2 !
i..
X
B & ) =
5 4 B3 2 4 0 1 2 4 5
_ill
=2
34 47
_4"
-5 ]

Answer 8RM.
Consider the equation
y=10x-06
The object is graph the equation using a graphing calculator.

First solve the equation in terms of y.

First turn on the calculator and click on to insert the functions againstto Y.

Key strokes to insert the equation y=10x-6

[ =] [10] [X,,0,n] -] [6]

The display of the Tl-calculator:

A Flokz Flat:
~WiE18X-a0
wWe=
wNa=

{~y=
| ~e=
1-Ys5=




Graph the inserted equation

Key stroke to graph the equation: [ZOOM @

The display of the Tl-calculator:

[-10,10]scl 1 by [-10,10]scl: 1

It cab ne observed that the y-intercept is inside of the viewing window. Therefore the graph is

compee].

Answer 9CU.
Consider the equation:
x—y=0
Tofind x-intercept, substitute y=0in x- y=0.
x=0=0 Simplify
x=0
So, the x-interceptis (0,0).

To find y-intercept. substitute y =0 in x=y=0
0— y =0 Simplify
y=0

So, the y-interceptis (0,0).
Graph the ordered pair [{M}] and draw a line through the points. Then the graph appears as

shown below




Answer 9RM.

Consider the equation
y=3x-18
The object is graph the equation using a graphing calculator.

First solve the equation in terms of y.

First turn on the calculator and click on to insert the functions against to Y,,

Key strokes to insert the equation y=3x-18

v =] B [X, T,0,n| [-] [18]

The display of the Tl-calculator:

AAE Flokz Flatk:
~WiE3K-18
wMe=
wHa=

§ ~Muy=
wMe=
W=
wWe=

Graph the inserted equation

Key stroke to graph the equation: (ZOOM @

The display of the Tl-calculator:

[-10,10]scl 1 by [~10,10]scl 1

It cab ne observed that the y-intercept is outside of the viewing window. Therefore the graph is

not complete |-

To make the graph complete first find the y-intercept.

y=3x-18 Original equation
y::r,((})_ls Replace x by 0
y=-18 Simplify



Answer 10CU.

Now choose a viewing window that includes a number less than —]§ .
Let us choose a viewing window [-10,10]by [-20,5]with a scale of 1 on each axis.

Key strokes to graph the equation:

(=] [10] [ENTER] [10] [ENTER]| [1] [ENTER] [-] [20] [ENTER] [5]

[ENTER| [1] [GRAPH]

[-10,10]sck: 1 by [-20,5]scl: 1

Consider the equation:

y=2x+8

To find x-intercept, substitute y=01in y=2x+8.
0=2x+8 Add —g§ both sides of the equation
~§=2x+8—8 Simplify

-8 = 2x Divide both sides of the equation by
-4=x

So, the x-interceptis (-4,0).

To find y-intercept, substitute y=0 in y=2x+3
y=2(0)+8 Simplify

y=8

So. the y-intercept is (0,8).



Graph the ordered pairs (—4iﬂ),([},3} and draw a line through the points. Then the graph

appears as shown below

Fm
104

¥

| o]

P
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-

b

Answer 10RM.

Consider the equation
3x-y=12
The object is graph the equation using a graphing calculator.
First solve the equation in terms of y.
First solve the equation in terms of y.
3x-y=12
=3x+3x - y=-3x+12 Subtract 3x from both sides
—y==3x+12 Simplify
y=3x-12 Multiply each side by —|

First turn on the calculator and click on to insert the functions againstto Y,.

Key strokes to insert the equation y=3x-12

[v =] [3] [X,7,0,n] [-] [12]

The display of the Tl-calculator:

IE Flotz Flotb:
~M1B3R-120
M=

M=

“Hy=

~He=

~NME=

“Me=




Graph the inserted equation

Key stroke to graph the equation: (ZOOM @

The display of the Tl-calculator:

[-10,10]scr 1 by [-10,10]scl: 1

It cab ne observed that the y-intercept is outside of the viewing window. Therefore the graph is

not complete|.

To make the graph complete first find the y-intercept.

y=3x-12 Original equation
y=3(0)-12 Replace x by 0
y=-12 Simplify

Now choose a viewing window that includes a number less than —12 .
Let us choose a viewing window [—I{]J{]]by [—lS,S]with a scale of 1 on each axis.

Key strokes to graph the equation:

[=] [10] [ENTER] [10] [ENTER| [1] [ENTER]| [-] [15] [ENTER] [5]

[ENTER] [1] [GRAPH]

[-10,10]sck 1 by [-15,5]scl 1



Answer 11CU.

Consider the equation:

y==3-x

Tofind x-intercept, substitute y=01in y=-3-x.
(0 = =3 — x Add 3 both sides of the equation
3=3-3-x Simplity

3 = —y Multiply both sides of the equation by _1
=3=x

So, the x-intercept is (-3,0).

To find y-intercept, substitute y=Q in y=-3-x
y =-=3 -0 Simplify
y==3

So, the y-intercept is (0,-3).

Graph the ordered pairs (—3,{}],((},—3} and draw a line through the points. Then the graph

appears as shown below

Y=




Answer 11RM.
Consider the equation

4x+2y=21

The object is graph the equation using a graphing calculator.
First solve the equation in terms of y.

First solve the equation in terms of y.

4x+2y=21

—4x+4x+ 2y =-4x+ 21 Subtract 4x from both sides

2y =—4x+21 Simplify

y= —2x+% Divide each side by 2
First turn on the calculator and click on to insert the functions against to Y,.

Key strokes to insert the equation y = _2,1r-|-ﬂ

L] 2] [X,7,0,n] [+] [21] [1]

The display of the Tl-calculator:

A Flokz Flok:
R CZ2R+21 20
wHe=
M=
wy=
wHe=
“NME=
o=

Graph the inserted equation

Key stroke to graph the equation: |Z.OOM @

The display of the Tl-calculator:

[-10,10]sck 1 by [-10,10]scl: 1



It cab ne observed that the y-intercept is outside of the viewing window. Therefore the graph is

not complete|.

To make the graph complete first find the y-intercept.

y=—2x+% Original equation
21

y=-2(0) o Replace x by 0

y=10.5 Simplify

Now choose a viewing window that includes a number greater than 15.

Let us choose a viewing window [—I{],l{]]by [—5,15]with a scale of 1 on each axis.

Key strokes to graph the equation:

(=] [10] [ENTER]| [10] [ENTER] [1] [ENTER] [-] [5| [ENTER] [15]

[ENTER] [1] [GRAPH]

et

[-10,10]scr 1 by [-5,15]scl- 1

Answer 12CU.
Consider the equation:

x+4y=10
Tofind x-intercept, substitute y=01in x+4y=10.
x+4(0)=10 Simplify
x=10
So, the x-intercept s (10,0).
To find y-intercept. substitute y=0 in x+4y =10
0+4y =10 Dividing each side by 4
10 ..
¥ =I Simplify
N
2

So, the y-interceptis [D_%].



Graph the ordered pairs (][},U},[G,E] and draw a line through the points. Then the graph
2

appears as shown below

Answer 12RM.
Consider the equation
Ix+5y=-45
The object is graph the equation using a graphing calculator.
First solve the equation in terms of y.
First solve the equation in terms of y.
3x+5y=-45
=3x+3x+ 5y =-3x-45 Subtract 3x from both sides
S5y ==3x-—45 Simplify
3x

y=—?—9 Divide each side by 5

First turn on the calculator and click on to insert the functions againstto Y.

Key strokes to insert the equation ¥y= —% -0

v= B E B[] KTeal £ 6

The display of the Tl-calculator:

A Flakz Flob:
“WHE-(3A/50K-9
wMWe=
wHe=

| ~My=
“MWe=
~NE=
M=



Graph the inserted equation

Key stroke to graph the equation. |ZOOM @

The display of the Tl-calculator:

[-10,10]scr 1 by [-10,10]scl 1

It cab ne observed that the x-intercept is outside of the viewing window. Therefore the graph is

not complete|.

To make the graph complete first find the x-intercept.

y =—3?x—9 Original equation
0= —3%—9 Replace v by 0
3x A
9= —? Add 9 each sides
5 ; . 5
9 -5 |5 Multiply each side by - 3
-15=x Simplify

Now choose a viewing window that includes a number less than —15 .

Let us choose a viewing window [-20,10]by [-10,10]with a scale of 1 on each axis.

Key strokes to graph the equation:

[<] [20] [ENTER] [10] [ENTER] [1] [ENTER| [-] [10] [ENTER]
[10] [ENTER] [1] [GRAPH]
. et -

[-20,10]sck 1 by [-10,10]scl: 1



Answer 13CU.

Consider the equation:

4x+3y=12

Tofind x-intercept, substitute y=01in 4x+3y=12.

4x+3(0)=12

4x+0=12 Simplify
4x=12 Add
x=3 Divide each side by 4

So, the x-interceptis (3,0).

To find y-intercept, substitute x=0 in 4x+3y=12

4(0)+3y=12
0+3y=12 Simplify
3y=12 Add
x=4 Divide each side by 3

So, the y-intercept is (0,4).

Graph the ordered pairs (3,{]],[3,4] and draw a line through the points. Then the graph

appears as shown below

4y

5

4x+3u=12

b




Answer 13RM.
Consider the equation

y=2x+b

Choose } =—] .then the given equation becomes

y=2x-1

The object is graph the equation using a graphing calculator in the standard viewing windows.

First turn on the calculator and click on to insert the functions against to Y,.

Key strokes to insert the equation y=2x-1

rEpEx=in

The display of the Tl-calculator:

A Flatz Flot:
S BZ2E—-1
wMe=
wWae=

| ~y=
wHe=
“WE=
wNe=

Graph the inserted equation

Key stroke to graph the equation: (ZOOM @

The display of the Ti-calculator:

[-10,10]scr 1 by [~10,10]scl 1



Choose ph=-7 . then the given equation becomes

y=2x-7

The object is graph the equation using a graphing calculator in the standard viewing windows.
First turn on the calculator and click on to insert the functions againstto Y,

Key strokes to insert the equation y=2x-7

Y =|[2] [X, T,8,n| []

The display of the Tl-calculator:

A Flatz Flok:
~1BZ2E-FR
wMe=
wWar=
~My=
“We=
“WE=
~MWe= I

Graph the inserted equation

Key stroke to graph the equation. |ZOOM @

The display of the TI-calculator:

[-10,10]sck 1 by [-10,10]scl: 1

Choose p =6 . then the given equation becomes
y=2x+6
The object is graph the equation using a graphing calculator in the standard viewing windows.

First turn on the calculator and click on to insert the functions againstto Y,.

Key strokes to insert the equation y=2x+6

[v =]2] [, T,8,n] [+] [6]

The display of the TI-calculator:

AME Flokz Floks
W EZ2E+E
wMr=
wMare
~Ny=
wWe=
“NE=
wMes




Graph the inserted equation

Key stroke to graph the equation: |ZOOM @

The display of the Tl-calculator:

[-10,10]sck 1 by [-10,10]scl: 1

Choose h =9 , then the given equation becomes
y=2x+9
The object is graph the equation using a graphing calculator in the standard viewing windows.

First turn on the calculator and click on to insert the functions against to Y,

Key strokes to insert the equation y=2x+0

Y =|[2] [X, T,0,n] [] [9]

The display of the Tl-calculator:

AL Flatz Flot:
~HiBRZ2R+9
wWe=
“Ne=

mhy=
“Ne=
~NE=
wWe=

Graph the inserted equation

Key stroke to graph the equation: |ZOOM @

The display of the TI-calculator:

[-10,10]sck: 1 by [-10,10]scl: 1



Answer 14CU.
Consider the equation:
c=0.75m+2.25
To find m -intercept, substitute ~=Q in ¢=0.75m+2.25.

0=0.75m+2.25
-225=0.75m+2.25-2.25 Add —2.25 each side
-2.25=0.75m Simplify
—3=m Divide each side by 0.75

So, the m-intercept is —3 and the graph intersects the m-axis at {-3*[}}.

To find c-intercept, substitute m=01In ¢=0.75m+2.25
c= {].?S[El] +2.25
=115 Simplity

So, the c-intercept is (0,2.25).

Graph the ordered pairs (-3,0),(0,2.25) and draw a line through the points. Then the graph

appears as shown below




Answer 14RM.

Consider the equation
y=2x+h
The standard viewing window is [-10,10]by [-10,10] with a scale of 1 on the both axes.

The graph of y = 2x+ b will be complete in the standard viewing window, if the origin, x-axis,
and y-axis of the graph appears in the standard viewing.

The graph of y =2x+ b will be complete in standard viewing window, if the values of b are
_Iﬂ:u_91_81_'?1-_65-5}_41'_31_2}_1103Iazv-}}d‘asaﬁi?:gagplﬂ

The following are some examples which satisfies the above conclusion.
Choose p =-1 . then the given equation becomes
y=2x-1
The object is graph the equation using a graphing calculator in the standard viewing windows.
First turn on the calculator and click on to insert the functions againstto Y,

Key strokes to insert the equation y=2x-1

[y =I[2] [X, 7 0,n] [-] 1]

The display of the Tl-calculator:

AFE Flotz Flot:
~Yi1EZ2R-1
“Ne=
wNr=
~NMy=

o=
“MNE=
~Me=

Graph the inserted equation

Key stroke to graph the equation: |ZOOM @

The display of the Tl-calculator:

[-10,10]scl: 1 by [-10,10]scl: 1

The graph of y=2x-1 is complete because all of the points are visible.



Choose p=-7 ., then the given equation becomes
y=2x=-7
The object is graph the equation using a graphing calculator in the standard viewing windows.

First turn on the calculator and click on to insert the functions againstto Y,

Key strokes to insert the equation y=2x-7

Y =|[2] [x,T,0,n] [{]

The display of the Tl-calculator:

A Flatz Flot:
~Y1B25-71
wMWe=
MW=
wHy=
~NMe=
MW=
wHe=

Graph the inserted equation

Key stroke to graph the equation: (Z.OOM @

The display of the Tl-calculator:

[-10,10]scl: 1 by [-10,10]scl: 1

The graph of y=2x-7 is complete because all of the points are visible.
Choose h =6 . then the given equation becomes

y=2x+6
The object is graph the equation using a graphing calculator in the standard viewing windows.
First turn on the calculator and click on to insert the functions againstfo Y.
Key strokes to insert the equation y=2x+6

[y =]2] [X, T,0,n] [+][6]

The display of the Tl-calculator:

A Flatz Flob:
N B2E+E
“Ne=
S
~Hy=
o=
~MNe=
“Mr=




Graph the inserted equation

Key stroke to graph the equation: |ZOOM @

The display of the Tl-calculator:

[-10,10]sck 1 by [-10,10]scl: 1
The graph of y=2x+6 is compleie because all of the points are visible.
Choose p =9 , then the given equation becomes
y=2x+9

The object is graph the equation using a graphing calculator in the standard viewing windows.

First turn on the calculator and click on to insert the functions against to Y,.

Key strokes to insert the equation y=2x+9

v =|[2] [x,T,0,n] [+] [9]

The display of the Tl-calculator:

1 IR Fletz Plokz
~NBZ2E+3
wWe=
“We=

| ~u=
“We=
~NE=
wWe=

Graph the inserted equation

Key stroke to graph the equation: |ZOOM @

The display of the Tl-calculator:

[-10,10]sck: 1 by [-10,10]scl: 1

The graph of y=2x+9 y=2x+9 is complete because all of the points are visible.



Answer 15CU.

If m is the number of mails traveled, then the cost of the fare charged by a taxi company is
c=0.75m+2.25.

The object is to find the taxi fare cost for a travel of 18 miles.
Replace m by 18 in equation ¢ =0.75m+2.25

c=0.75(18)+2.25

c=13.5+2.25 Multiply
c=15.75 Add

Therefore, the taxi fare cost to travel 18 miles is [§15.75

Answer 15RM.
Consider the equation

y=2x+b
To find the y-intercept of the graph of y=2x+4 . replace x by 0.

y=2x+b Original equation
y=2(0)+b Replace x by 0
y=b Simplify

Thus, the value of b is the y-intercept of the graph of the equation y=2x+5.

Answer 16PA.
Consider the equation
Ix=5y

The equation has no term with two variables, so the equation can be written in standard form.
To write the equations into standard form first rewrite the equation so that both variables are on
the same side of the equation.

3x =5y Original equation
Ix=5y=5y-5y Add =5y to each side
3x=5y=0 Simplify

The equation is now in standard form Ax+ By=C .where 4=3,B==5, and C=0.

Therefore, the equation 3x =5yis in standard form and the standard form is |[3x=5y =0




Answer 17PA.
Consider the equation
6—y=2x

The equation has no term with two variables, so the equation can be written in standard form.
To write the equations into standard form first rewrite the equation so that both variables are on
the same side of the equation.

6—y=2x Original equation
—2x+6—y=2x—-2x  Add -2x to each side
“2x+6—y=0 Simplify
—2x+6—-6—y=0-06 Add -6 to each side
=2x-y=—0 Simplify
2x+y=6 Multiply each side by —1

The equation is now in standard form Ax+By=C ,where 4=2B=1, and C=6.

Therefore, the equation 6 - y = 2xis in standard form and the standard form is |2x+ y =6

Answer 18PA.
Consider the equation
bxy+3x=4

The equation has a term xy which is not linear, so the equation cannot be written in standard
form Ax+By=C.

Therefore, the equation 6xy+3x =4 is not a linear equation.

Answer 19PA.
Consider the equation
y+5=0

The equation has no term with two variables, so the equation can be written in standard form.
To write the equations into standard form first rewrite the equation so that both variables are on
the same side of the equation.

y+5=0 Original equation
y+5=5=0-5 Add -5 to each side
y==5 Simplify

The equation is now in standard form Ax+ By=C ,where 4=0,8=1, and C=-5.

Therefore, the equation y+5=0is in standard form and the standard form is [Qx+ y=-=5




Answer 20PA.
Consider the equation

Ty=2x+5x

The equation has no term with two variables, so the equation can be written in standard form.
To write the equations into standard form first rewrite the equation so that both variables are on
the same side of the equation.

Ty=2x+5x Original equation
Ty=Tx Add
-Ix+7y=-Tx+1x Add —7x each side
—Tx+T7y=0 Simplify
x=y=0 Divide each side by =7

The equation is now in standard form Ax+By=C ,where 4=1,B=-1, and C=0.

Therefore, the equation 7y =2x+ 5xis in standard form and the standard formis |x—y =0

Answer 21PA.
Consider the equation

y=4x' -1
The equation has a term 42 which is not linear, so the equation cannot be written in standard
form Ax+ By =C.
Therefore, the equation y = 4x® —1 is not a linear equation.
Answer 22PA.
Consider the equation
3 4

—t—=2
Xy

Multiply each side by xy
3 4
xy)=+(xy)—=2x
()7 +(w)7 =20
Jy+4x=2xy

The equation has a term xy which is not linear, so the equation cannot be written in standard
form Ax+By=C.

3 4
Therefore, the equation —+—=2 is not a linear equation
S



Answer 23PA.

Consider the equation

3 2
A
5 8%

The equation has no term with two variables, so the equation can be written in standard form.
To write the equations into standard form first rewrite the equation so that both variables are on
the same side of the equation.

%x - % y=5 Original equation
Ix=-2y=125 Multiply by 5 each side

The equation is now in standard form Ax+ By=C ,where 4=3,B=-2, and C =25.

Therefore, the equation %x —%_],: = 5is in standard form and the standard form is

Ix=-2y=125

Answer 24PA.
Consider the equation
Tn=8m=4-2m
The equation has no term with two variables, so the equation can be written in standard form.

To write the equations into standard form first rewrite the equation so that both variables are on
the same side of the equation.

Tn—8m=4-2m Original equation
Tn—8m+2m=4-2m+2m Add 2m each side
Tn—6bm=4 Simplify

The equation is now in standard form 4p+ Bm=C .where =7 B=-6, and C=4.

Therefore, the equation 7y —8&m = 4 — 2mis in standard form and the standard form is
Tn—-6bm=4




Answer 25PA.

Consider the equation

da+b-2=b
The equation has no term with two variables, so the equation can be written in standard form.
To write the equations into standard form first rewrite the equation so that both variables are on

the same side of the equation.
Ja+b-2=b

da+b-2-b=b-b
Ja—-2=0
3a-2+2=2

3a=2

The equation is now in standard form 4+ Bh=( .where 4=3.B=0, and C=2.

Therefore, the equation 3+ p—2 = pis in standard form and the standard form is

3a+0h=2
Answer 26PA.

Consider the eguation

y=-1

Find ordered pairs from the equation by randomly choosing a value for x, replacing this value
for x in the equation, and solving for y as shown in the table.

Original equation
Add - b each side
Simplify

Add 2 each side

Simplify

x y | (%)
5 -1 | (5.-1)
2 -1 | (2,-1)
0 ~1 (0,-1)
-3 -1 [(-3,-1)
-5 -1 | (-5,-1)

Graph the ordered pairs (5,-1),(2,-1),(0,~1),(-3,~1),(~5,—1) and draw a line through

the points. Then the graph appears as shown below.

515"

EN

1;'g




Answer 27PA.
Consider the equation

y=2x

Find ordered pairs from the equation by randomly choosing a value for x, replacing this value
for x in the equation, and solving for y as shown in the table.

x y (x.7)
5 10 (5.10)
2 4 (2,4)
0 0 (0,0)
-3 -6 (-3.-6)
-5 -10 | (-5,-10)

Graph the ordered pairs (5,10),(2,4),(0,0),(-3,-6),(—5.—10) and draw a line through
the points. Then the graph appears as shown below.

Answer 28PA.

Consider the eguation:
y=5-x

Tofind x-intercept. substitute y=01in y=5-x.

D=5=-x
x=5-x+x Add x each side
x=5 Simplify

So, the x-interceptis (5,0).



Tofind y-intercept, substitute y=0 in y=5-x
y=5-0

y=35 Simplify

So, the y-intercept is (0,5).

Graph the ordered pairs (S,D),(D,SJ and draw a line through the points. Then the graph

appears as shown below

Answer 29PA.

Consider the equation:
y=2x-8

To find x-intercept, substitute y=01in y=2x-8.

D0=2x-8
—2x=-2x+2x-8 Add —2x each side
—-2x=-8 Simplify

x=4 Divide each side by —2

So, the x-intercept is (4,0).

Tofind y-intercept, substitute y=0 in y=2x-8

y=-8 Simplify

So, the y-intercept is (0,-8).



Graph the ordered pairs {4,!]),([},—8) and draw a line through the points. Then the graph

appears as shown below

3*?

Answer 30PA.

Consider the equation:
y=4-3x

To find x-intercept, substitute y=01in y=4-3x.

0=4-3x
Ix=4-3x+3x Add 3x each side
Ix=4 Simplify

X =§ Divide each side by 3

So, the x-intercept is [%D]

Tofind y-intercept, substitute y=0Q in y=4-3x
y=4-0

y=4 Simplify

So, the y-intercept is (0,4).



Graph the ordered pairs [EEDJ,([],:J.] and draw a line through the points. Then the graph
3

appears as shown below

5*?

P

-1+
Answer 31PA.
Consider the equation:
y=x—-6

Tofind x-intercept. substitute y=01in y=x-6.

O=x-6
—x=—-x+x-06 Add —x each side
—x=—6 Simplify

x=6 Multiply each side by —1

So. the x-interceptis (6,0).

Tofind y-intercept. substitute y=0Q in y=x-6
y=0-6
y=—0 Simplify

So, the y-interceptis (0,-6).



Graph the ordered pairs (G,Djﬁ[ﬂj—ﬁj and draw a line through the points. Then the graph
appears as shown below

Fm
1044

Answer 32PA.

Consider the equation:
y=x—-6

Tofind x-intercept, substitute y=01in y=x-6.

O=x-06
—Xx=—x+x—-0 Add —x each side
—x=—6 Simplify

x=06 Multiply each side by —1

So. the x-interceptis (6,0).

To find y-intercept, substitute y=0 in y=x-6
v=0-06

y=-6 Simplify

So, the y-intercept is (0,-6).



Graph the ordered pairs (6,{]],[0,—6] and draw a line through the points. Then the graph

appears as shown below

™
104

Answer 33PA.
Consider the equation:
x=4y-6
To find x-intercept, substitute y=01in x=4y—-6.
x=4(0)-6
x=-6 Simplify

So, the x-intercept is (—6,0).

Tofind y-intercept. substitute yx=0 in x=4y-6

O0=4y-6
—dy=—4dy+4dy-6 Add —4y each side
—4y=—6 Simplity
y= _—6 Divide each side by —4
-4
},.% Simplify

So, the y-intercept is [ﬂ,,%].



Graph the ordered pairs (_f.,,[]}‘([}%] and draw a line through the points. Then the graph

appears as shown below

4 . A

P

10

Answer 34PA.
Consider the equation:

x=y==3
Tofind x-intercept, substitute y=01in x—y=-3.

I—(D} -3

=-3  Simplify

So, the x-intercept is (-3,0).

Tofind y-intercept. substitute x=0 in x—y=-3

0-y=-3
-y=-3 Simplify
y=3 Multiply each side by -1

So, the y-intercept is (0,3).



Graph the ordered pairs (—B,U]ﬁ({]j) and draw a line through the points. Then the graph

appears as shown below

¥

Answer 35PA.
Consider the equation:

x+3y=9
Tofind x-intercept, substitute y=01in x+3y=9.
x+3(0)=9

x=9 Simplify

So, the x-interceptis (9,0).

To find y-intercept, substitute x=0Q in x+3y=9

0+3y=9
3y=9 Simplify
y=3 Divide each side by 3

So, the y-interceptis (0,3).



Graph the ordered pairs (9,,[}],(01,3) and draw a line through the points. Then the graph
appears as shown below

Answer 36PA.

Consider the equation:

4x+6y =38

To find x-intercept, substitute y=0in 4x+6y=8§.

4x+6(0)=8
4y =8 Simplify
x=2 Divide each side by 4

So, the x-interceptis (2,0).

Tofind y-intercept, substitute y=0 in 4x+6y=R8

4({]}-#{:)-‘:3
by=38 Simplify
y =§ Divide each side by 6

So, the y-interceptis [U%J



Graph the ordered pairs (2{]}[0%] and draw a line through the points. Then the graph

appears as shown below

4x+6y=28

Answer 37PA.
Consider the equation:
3x=-2y=15
Tofind x-intercept, substitute y=01in 3x-2y=15.

3x-2(0)=15
Ix=15 Simplify
x=5 Divide each side by 3

So, the x-intercept is (5,0).

Tofind y-intercept, substitute y=0 in 3x-2y=15

3(0)-2y =15
-2y =15 Simplify
J_.- = _E I}'wide E'al;:h ﬁtde b}" - 2

So, the y-intercept is [ﬂ*—g ]



Graph the ordered pairs (5’0},[0,_2] and draw a line through the points. Then the graph

i

appears as shown below

4y

4
3

Answer 38PA.
Consider the equation:

|.5x+y=4

Tofind x-intercept, substitute y=01in 1.5x+ y=4.

|.5x+0=4
1.5x=4 Simplify
x= % Divide each side by 1.5

S0, the x-intercept is [%ﬂ]



Tofind y-intercept, substitute y=0 in 1.5x+y=4
1.5(0)+y=4
v=4 Simplify
So, the y-interceptis (0,4).

Graph the ordered pairs [i,ﬂ}(ﬂ,q.] and draw a line through the points. Then the graph
1.5

appears as shown below

Answer 39PA.

Consider the equation:

25x+5y=175

To find x-intercept, substitute y=0in 2.5x+5y=75.
2.5x+5(0)=75

Z2Dx= TS Simplify
75 ‘o :
X=— Divide each side by 2.5
x=30 Simplify

So, the x-intercept is (30,0).



Tofind y-intercept, substitute y=0Q in 25x+5y=75

2.5(0)+5y=75
Sy="175 Simplify

y=22"  Divide cacti side by 5
}’:IS S!]TIPIIF}"

So, the y-interceptis (0,15).

Graph the ordered pairs (30,0),(0,15) and draw a line through the points. Then the graph

appears as shown below

204

_'qll

-

Answer 40PA.

Consider the equation:

I
—x+y=4
5 )

To find x-intercept, substitute y=0 in %,H y=4.

l::+[l=4
2
1 S
Ex =4 Simplify
x=8 Multiply each side by 2

So, the x-interceptis (8,0).
To find y-intercept. substitute y =0 in %,Hy =4
L(0)+y=4

2

v=4 Simplify

So. the y-interceptis (0,4 ).



Graph the ordered pairs (S,{]]ﬁ({]ﬂ-‘l] and draw a line through the points. Then the graph

appears as shown below

4y

L

[ ]

1.5
14
0.5

X

el

0 9 10

Graph the ordered pairs {S,U)ﬁ(ﬂﬁ-tl} and draw a line through the points. Then the graph

appears as shown below

4y

L

[ )

b ]




Answer 41PA.
Consider the equation:

x—=y=I
3
To find x-intercept, substitute y=0 in I_E p=].
k 3
2
x——(0)=1
5(0)

x=1 Simplify

So, the x-intercept is (1,0).

To find y-intercept, substitute »=( in I_EJ; =]
3

-—y= Simplify
3 _ ) 3
y=-= Multiply each side by ——
. 2
- : 3
So, the y-intercept is [UFE J

Graph the ordered pairs (I,[}}{G,_% ] and draw a line through the points. Then the graph

appears as shown below

1 '.".J-"

¥

_3. -

Answer 42PA.



Consider the equation:

E = 3y +1
3 4
Tofind x-intercept, substitute y =0 in ?=%+ l.
30
3 4
ﬂ = | Simplify
3
x= 3 Multiply each side b 3
F ply side by -

S0, the x-intercept is [%J}J.

To find y-intercept, substitute » =0 in ?:%H
400 ’
Q:B_}_Fl
3 4
Iy N——
0=—+1 Simplify
3y 1
_I=T+I_I Add -1 each side
4 : : 3
—= y Multiply each side by =55

S0, the y-intercept is [ﬂ,-% ]

Graph the ordered pairs [%,ﬂ],[[},—% J and draw a line through the points. Then the graph

appears as shown below




Answer 43PA.
Consider the equation:

|
' t—=—x-3
T
Tofind x-intercept, substitute y=0In y+%=£x—3.
ﬂ+l:lx—3
4
1 1 .
3+—=—x-3+3 Add 3 each side
3 4
10 1 S
—=—X Simpli
=7 plify
4?{} =x Multiply each side by 4

So, the x-intercept is [?,ﬂ].

To find y-intercept, substitute y =0 in }r+%=l,\‘—3

4
1 1
r+==—=(0)-3
y+3=7(0)
1 1 1 1 .
y+———=-3—— Add —— each side
3 3 3 3
y= _§ Simplify

So, the y-intercept is [D,-% ]

Graph the ordered pairs [%!ﬂ],(ﬁ,d?) and draw a line through the points. Then the

graph appears as shown below

3¢
2

15

.5ll




Answer 44PA.

Consider the equation:
4x-Ty=14
Tofind x-intercept, substitute y=01in 4x-Ty=14.

4.1'—?([}:]: 14
4y =14 Simplify
= % Divide each side by 4
7
s Simplif;
X 5 implify

So, the x-intercept is and the graph of the line intersect at [%J}]_
2

To find y-intercept, substitute x=0Q in 4x-Ty =14

4(0)-7y=14
-Ty=14 Simplify
y==2 Divide each side by -7

So. the y-intercept is and the graph of the line intersect at (0,-2).
Answer 45PA.

The object is to find an equation in standard form which has 3, 5 as x-intercept and y-intercept
respectably.

If @ and b are the intercepts made by a line on axes, then the equation of the line is

a b

Therefore the equation of line which makes intercepts 3 and 5 on the axes is

£+£=[ Replace a and b by 3 and 5
3 5

To write the equation with integer coefficients, multiply each term by 15.

Zpdog Original equation
35
15[%} 1 5(%] =15 Multiply each side of the equation by 15
Sx+3y=15 Simplify

Therefore, the standard form of an equation which makes intercepts 3and 5is |Sx+3y=15

Answer 46PA.



Consider the following rectangle
2x

If Iis the length of the rectangle and w is the width, then the perimeter P of a rectangle is
214+2m=P
From the above diagram it can be observed that
I=2x,m=y
Therefore, the perimeter of the given rectangle is
2(2x)+2y="P
4x+2y="F
If the perimeter of the rectangle is 30 inches, then

4x+2y=P
4x+2y=30 Replace P by 30

The equation |4x+ 2y =30|in standard form, where 4=4,B=2, and C=30.

Answer 47PA.



Consider the following rectangle
2x

If is the length of the rectangle and w is the width, then the perimeter P of a rectangle is
2042m=P
From the above diagram it can be observed that

I=2x,m=y
Therefore, the perimeter of the given rectangle is

2(2x)+2y=P

dx+2y=P

If the perimeter of the rectangle is 30 inches, then

4x+2y=P

4x+2y =30 Replace P by 30

To find x-intercept, substitute y=01in 4x+2y=30.

4x+2(0)=30
4x =30 Simplify
x= % Divide each side by 4
x =§ Simplify

So, the x-intercept is %

To find y-intercept, substitute x =0 in 4x+2y =30

4(0)+2y=30
2y=30 Simplify
_30 Divide each side by 2
v=I15 Simplify

So, the y-interceptis 15.

Therefore, the x and y intercepts of the graph of the equation 4x+ 2y =30are and

respectively.



Tofind y-intercept, substitute y=0 in 4x+2y =30

4(0)+2y=30
2y=30 Simplify
:3_20 Divide each side by 2
y=15 Simplify

So, the y-interceptis 5.

Therefore, the x and y intercepts of the graph of the equation 4x+ 2y =30are I_S. and

respectively.
Answer 48PA.

Consider the following rectangle
2x

If is the length of the rectangle and w is the width, then the perimeter P of a rectangle is
242m=P

From the above diagram it can be observed that

l=2x,m=y
Therefore, the perimeter of the given rectangle is

2(2x}+ 2y=P

4x+2y="FP
If the perimeter of the rectangle is 30 inches, then

dx+2y=P
4x+2y=30 Replace P by 30



Tofind x-intercept, substitute y=01in 4x+2y=30.

4x+2(0)=30
4x =30 Simplify
X= % Divide each side by 4
15 . ik
=— Simplifs
X > implify

So, the x-intercept is % and the graph of the line intersect at [gﬂ]

Tofind y-intercept, substitute y=0 in 4x+2y =30

4(0)+2y =30
2y =30 Simplify
30 » :
y== Divide each side by 2
y=15 Simplify

So. the y-interceptis 15and the graph of the line intersect at (0,15).

Answer 49PA.
Consider the following equation
d=021r.
where d is miles traveled by sound in t seconds

Make a table. The values of f come from the domain. Substitute each value of f into the
equation to determine the values of d in the range.

t| d=0211 |d

da=0210) |
=021

,| 4=02102) | .
=042

,| 4=0213) | .,
=0.63

L 4=021(4) |,
=0.84

Answer 50PA.



Consider the following equation
d=021.
where d is miles traveled by sound in  seconds

The graph of the equation is

244
1..
d=021z
// r
£ =
2 : 0 1 2
-1¢
24

Answer 51PA.
Consider the following equation

d=021I.
where d is miles traveled by sound in f seconds

Substitute g=3iIn §=021¢

3=0.21r
3 =g Divide each side by 0.21
0.21
1429 =¢ Simplify

Therefore, it will take (14.29 seconds| to hear the thunder from a storm 3 miles away.




Consider the following equation
v=0.07Tw.
where y is the number of pints of blood and w is the weight of a person in pounds.

The graph of y=0.07w is

Answer 53PA.
Consider the following equation
y=0.07w,
where y is the number of pints of blood and w is the weight of a person in pounds

Substitute y=12iIn y=0.07w

12 =0.07w

12 " :
— =W Divide each side by 0.07
0.07
171.4=w Simplify

Therefore, the weight of a person whose body holds 12 pints of blood is about (171 Ib



Answer 54PA.

Consider the following equation
p=043d +14.7.
where p is the pressure in pounds per square inch and d is the depth of the water in feet.

The graph of the equation p=043d+14.7is

p=043d+14.7

LS

28 24 20 -16 -12 8 4 Of 3

Answer 55PA.
Consider the following equation
p=043d+14.7.
where p is the pressure in pounds per square inch and d is the depth of the water in feet.
Substitute 4 =400 iIn p=0.43d+14.7
p=043(400)+14.7

p=172+14.7 Simplify
p=186.7 Add

Therefore, the pressure at 400 feet depth is |186.7 psi

Answer 56PA.

Consider the following equation

p=0434d+14.7.
where p is the pressure in pounds per square inch and d is the depth of the water in feet.
Substitute 4 =400 in p=043d+14.7

p= 0.43[:4[]{])+I4.?

p=172+14.7 Simplify
p=186.7 Add

Therefore, the pressure at 400 feet depth is 186.7 psi.



At sea level, d will be equal to zero. The pressure at sea level can be obtained by putting d is
equal to zero.

Substitute =0 In p=043d+14.7

p=043(0)+14.7
p=147 Simplify
p=14.7 Add

Therefore, the pressure at sea level is 14.7 psi.

The ratio of pressures at 400 feet depth and at sea level is

186.7:14.7=12.7:1
The pressure at 400 feet is times as greater as the pressure at sea level.

Answer 57PA.

Consider the following equation
f(x,y)=2x-y-8=0

If

f(x,0)=2x,-y,-8>0,
then the point (x,,y,) lies below the line 2x -y =8
Consider a point (x,,»,)=(6,1). then
f(6,1)=2(6)-1-8

f(6,1)=12-1-8

f(6,1)=3>0

Therefore, the point {ﬁ,l] lies below that line 2x—y=8§8.

If
f(xu,}’l}: 2x, -y, —-8<0.
then the point (x,,y,) lies above the line 2x—y =8
Consider a point (x,,y,)=(1,1). then
F(L1)=2(1)-1-8
F(1,1)=2-1-8
f(L1)=-7<0
Therefore, the point (x,,y,)=(1,1)lies above the line 2x—y =8



If

f(x,9)=2x-y-8=0,

then the point (x,,y,) lies above the line 2x—y =8

Consider a point (x,, ,)=(4,0). then

f(4,0)=2(4)-0-8

F(4.0)=8-8

f(4,0)=0

Therefore, the point (x,,y,)=(4,0)lies on the line 2x-y =8
Answer 59PA.

Consider the following equation

y=3x-35
Replace xby 1and y by —2 in y=3x-5, then

-2=3(1)-5
-2=3-5 Simplify
-2=-2 Correct statement

Therefore, the point (1,-2) lies on the line y =3x-5.

Hence, the option Is the correct answer.

Replace xby Oand y by 5in y=3x-5, then

5=3(0)-5
5=0-5 Simplify
5=-5 Wrong statement

Since the point (0,5)does not satisfies the line equation y=3x-5
Therefore, the point (0,5)does not lie on the line y =3x-5.

Hence, the option is not the correct answer.

Replace xby 1and yby 2in y=3x-35, then

2=3(1)-5
2=3=5 Simplify
2==2 Wrong statement

Since the point (1,2)does not satisfies the line equation y =3x-35
Therefore, the point [l,E]dDes not lie on the line y=3x-35.

Hence, the option is not the correct answer.



Replace x by 4 and y by 3 in y=3x-5, then

3=3(4)-5
3=12-5 Simplify
3=7 Wrong statement

Since the point (4,3)does not satisfies the line equation y=3x-5
Therefore, the point (4,3)does not lie on the line y =3x-5.
Hence, the option @ is not the correct answer.

Answer 60PA.

The object is to find the ordered pair which lies on a line passing through the points
{{],I) and {4,3} .

First find the equation of the line passing through the points [ﬂ,]) and {4,3)

The equation of the line passing through the points (x,:Jf':] and (Iz,yz}is

Y=X» =M{I_II}
X =X

The equation of line through the points [ﬂ,l} and (4,3) s

3-1
1—12— —U
y=l=—(x-0)

y—l—gx
4
|
-l=—=x
¥ 2
Y 2

Consider the following equation

=X+
Y73
Replace x by 1 and y by 1 in y:%:,l__then

1=L41
2

1= 5 Wrong statement
Since the point [I,I}dnes not satisfies the line equation

Therefore, the point (I,I] lies on the line y=£+1_
2

Hence, the option A is not the correct answer.



Replace x by 2 and y by 2 in y:%ﬂ__ then

2=E+l
2
2=1+1 Simplify
2=2 Correct statement

Therefore, the point [2,2) lies on the line y=§+1_

Hence, the option is the correct answer.

Replace x by 3 and y by 3 in y=%+1__ then

3=34
2
5
3= > Wrong statement

Since the point (3,3]{10&5 not satisfies the line equation

Therefore, the point (3,3) lies on the line y=§+1_

Hence, the option C is not the correct answer.

Replace x by 4 and y by 4 in y=%+1__ then

4=£+]
2
4=3 Wrong statement

Since the point [4, 4){10&5 not satisfies the line equation
Therefore, the point [4,4} lies on the line y=%+1_

Hence, the option D is not the correct answer.

Answer 61MYS.



Consider an equation

y=x-35

The object is to solve the equation if the domain is {-3,—L2i5ﬁ8} and graphing the solution
set.

Make a table. The values of x come from the domain. Substitute each value of x into the
equation to determine the corresponding values of y in the range.

X y=x-5 ¥y [;r,y:l
=-3-5
3|7 8| (-3,-8)
=-8
y==1-5
= 6| (-1,-6
b~ . 6| ( )
2 | 7727 | 5| 23
=-3
_ y=5-5
5 0 5,0
- (5.0)
8 "“22_5 3 | (8.3)

Therefore the solution set is {[—3,—8},{-I,—ﬁ},[l—3}[5,{]],(8,3)} :

Answer 62MYS.



Consider an equation

y=2x+1

The object is to solve the equation if the domain is {-3,-1,2,5,8} and graphing the solution
set.

Make a table. The values of ¥ come from the domain. Substitute each value of x into the
equation to determine the corresponding values of y in the range.

X y=2x+1 ¥ [I._}':I

y=23)+1| | (55

-1 (-1,-1)

2 | =2 15 | (a)s)

11 | (5,11)

y=2(8)+1

17 | (8,17
s (8,17)

Therefore the solution set is :[—3,—5},[—I_-l],(l_‘i),(il1),[3,]?}} .

Answer 63MYS.

Consider an equation

3x+y=12

The object is to solve the equation if the domain is {-3#-1,2‘,5#3} and graphing the solution
set.

First solve the equation in terms of y.
3x+y=12
=3x+3x+y=12-3x Subtract 3x from both sides
y=12-3x Simplify



Make a table. The values of x come from the domain. Substitute each value of x into the
equation to determine the corresponding values of y in the range.

x | yp=12-3x y o (%)

3| Y=127303) |5 (-3,21)
=21

| PR30 g (~1,15)
=15

, | r=12-302) |, (26)

s | ¥=12-30) | (5.-3)
=-3

g y=12-3(8) 12| (8.-12)
=-12

Therefore the solution set is {[-3,2]],(-LI5]*(2,6}¢{5ﬁ—3]ﬁ{8$-lz}} :

Answer 64MYS.

Consider an equation

3x+y=12

The object is to solve the equation if the domain is {-Bi-lﬁzisiﬂ} and graphing the solution
set.

First solve the equation in terms of y.

Ix+y=12
=3x+3x+y=12-3x Subtract 3x from both sides
y=12-3x Simplify



Answer 65MYS.

Consider an equation
3:—1 =06
EJ

The object is to solve the equation if the domain is {-3,-1,2,5,8} and graphing the solution

set.

First solve the equation in terms of y.

I
Jx——y=06
EJ
=3x+ 31’—% y=06-3x Subtract 3x from both sides
1 : .
_Ey =6-3x Simplify
y=6x-12 Multiply each side by -2

Make a table. The values of x come from the domain. Substitute each value of x into the
equation to determine the corresponding values of y in the range.

x| y=6x-12 yo | (%)
=6(-3)-12

3| 7=3) -30 | (-3,-30)
=30
= 6(-1)-12

Y i el IPS RT)
=_18

, | ¥=6(2)-12 |, (2,0)
-0

s | ¥=60)-12 |4 (5,18)
=15

g | V=0B)712 45 (8,36)
=36

Therefore the solution set is {[-3,-30]‘(-I,—IE}*[2,G),(5,IE},{BJ&}} i

Answer 66MYS.



Consider an equation
—1.1:+l r=4
3J

The object is to solve the equation if the domain is {-3,-1,2,5,8} and graphing the solution

set.

First solve the equation in terms of y.

-2x +1y =4
3
1 .
2,1:42:+Ey=4+2x Add 2x to both sides
| . .
Ey=4+2x Simplify
y=124+6x Multiply each side by 3

Make a table. The values of x come from the domain. Substitute each value of x into the
equation to determine the corresponding values of y in the range.

x | p=12+6x N ERY
=12+6(-3

a7 (-3) -6 | (-3,-6)
=-6

IR =S G ) P

o | ¥=12+6(2) |5, (2,22)
=22

5 | ¥=12460) |4 | (5,42)
=42

g | ¥=12%60) 155 | (360)
=60

Therefore the solution set is {(—3,-6],(—[,15},(2,22}*[5,42],(3,&}}} :

Answer 67MYS.



Consider a relation

[(3.5).(-4,-1).(-3,2).(3.1)}

The object is to table the above relation, graphing the relation, and drawing a mapping of the
relation.

First, form a table of the given relation by listing the set of x-coordinates in the first column of
the table and y-coordinates in the second column of the table.

5]
[ay]

Graphing each ordered pair in coordinate plane

%.5)

&
[ g

i o (3.1)

¥




Map the relation {(3,5),(-4,—1),{-3,2},[311]} by listing x and y values and connecting them
by arrows.

The domain of the relation is {3,—4,—3} and the range is {i—LE,I} :
Answer 68MYS.

Consider a relation

{(4.0),(2,-3).(-1,-3),(4.4)}

The object is to table the above relation, graphing the relation, and drawing a mapping of the
relation.

First, form a table of the given relation by listing the set of x-coordinates in the first column of
the table and y-coordinates in the second column of the table.

x |y
4 0

2 -3
-1 -3

4 |4




Graphing each ordered pair in coordinate plane

(4,4)

[ R

Map the relation {(4‘{])*{Eﬁ-B],{——L-S}*{aIA}} by listing x and y values and connecting them
by arrows.

The domain of the relation is {4*2,—1} and the range is {{1,—3,4} .

Answer 69MYS.



Consider a relation

1(1,4),(3.0),(-1.-1).(3,5)]

The object is to table the above relation, graphing the relation, and drawing a mapping of the
relation.

First, form a table of the given relation by listing the set of x-coordinates in the first column of
the table and y-coordinates in the second column of the table.

x |y
1 4
3 0
1| =]
3 D

Graphing each ordered pair in coordinate plane
ok 28 ®
(3.5)

(1.4)

'-L"l L)

1

=

1

L]

1

I"-J -

1

(=1

o

Pam—

-4 o

e
L ]
Y=

& -1t {3;0:]

1
1




Map the relation {(1,4}{1!]},[—],-I],(S,S)} by listing x and y values and connecting them

Dy arrows.

The domain of the relation is {1,3,~1} and the range is {4,0,-1,5} .

Answer 70MYS.

Consider a relation

1(4.5).(2.5).(4,-1).(3.2)}

The object is to table the above relation, graphing the relation, and drawing a mapping of the
relation.

First, form a table of the given relation by listing the set of x-coordinates in the first column of
the table and y-coordinates in the second column of the table.

[
h

Graphing each ordered pair in coordinate plane

55’ ® ®
(2,5) (4.5)
44
34
2 l{g_g‘]
1+
X
o
5 4 B3 2 a4 99 1 2 3 4 35
-1"
(4-1)
_2"
_3"
_4"




Map the relation {(4‘5},[E,S}i[dﬁ—l}i{:lz)} by listing x and y values and connecting them by
arrows.

The domain of the relation is {4,2,3} and the range is {5,-1,2} .
Answer 71MYS.

Consider the equation:
2(1—2)=3x-{4x—5}.
The objective is to solve the equation for x.

Use the properties of equality and inverse operations to solve the equation.

2x—4=3x—-4x+5 Distributive property

2x—4=-x+5 Perform the operation for like terms
2x—4+4=—x+5+4 Add 4 to both sides of the equation

2x=-x+9 Perform the operation for like terms

2x+x=—-x+x+9 Add x to both sides of the equation

Ix=9 Perform the operation for like terms

3% =% Divide both sides of the equation by 3

x=3 Perform the division

The solution of 2(x-2)=3x—(4x-5). 5 x=3.

Check:
Check the solution by substituting it into the original equation.

Substitute x =3, in the equation 2(x-2)=3x—(4x-5).

2(3-2)=3(3)-(4(3)-5) Replace x with 3
229-7 Simplify
2=2 True

Thus, the solution of 2(x-2)=3x-(4x-5)is [x=3

Answer 72MYS.



Consider the equation:

3a+8=2a-4

The objective is to solve the equation for a.

Use the properties of equality and inverse operations to solve the equation.

3a+8-2a=2a-4-2a Add - 24 to both sides of the equation
a+8=-4 Perform the operation for like terms
a+8-8=-—4-§ Add —81to both sides of the equation
a=-12 Perform the operation for like terms

The solution of 354+8=2g-4 15 g=-12

Check:

Check the solution by substituting it into the original equation.

Substitute 5=-12 inthe equation 3g4+8=2a-4

3(-12)+8=2(-12)-4 Replace a with —12
~36+8=-24-4 Simplify
—-28=-28 True

Thus, the solution of 3g+8=2g-4 is ,

Answer 73MYS.
Consider the equation:
3In—=12=5n-20

The objective is to solve the equation for n

Use the properties of equality and inverse operations to solve the eguation.

In=-12-5n=5n-20-5n Add - 5nto both sides of the equation
-12-2n=-20 Perform the operation for like terms
-12-2n+12=-20+12 Add 12 to both sides of the equation
—2n=-8 Perform the operation for like terms
Check:
ﬂ:ﬁ Divide bot , L . ,
o R, Check the solution by substituting it into the original equation.
n=4 Perform th o\pctivite ,, — 4 in the equation 3y—12 = 51— 20

The solution of Ip—=12=5n=20 15 .
3(4)-12=5(4)-20

12-12=20-20
0=0

Replace i with 4

Simplify
True

Thus, the solution of 3p—12 = 50720 is _



Answer 74MYS.

Consider the equation:
ﬁ[r+3}=31
The objective is to solve the equation for x

Use the properties of equality and inverse operations to solve the equation.

6x+18=3x Distributive property
6x+13-18=3x-18 Add - 1810 both sides of the equation
6x=3x-18 Perform the operation for like terms
6x—3x=3x-3x-18 Add —3x to both sides of the equation
3x=-18 Perform the operation for like terms
3?1- = %ﬂ Divide both sides of the equation by 3
x=-6 Perform the division

The solution of 6(x+3)=3xis x=—6
Check:

Check the solution by substituting it into the original equation.

Substitute x = -6 In the equation 6(x+3)=3x

6(-6+3)3(-6) Replace x with -6
6(-3)=-18 Simplify
-18=-18 True

Thus, the solution of 6(x+3)=3x is ‘

Answer 75MYS.

COpossum 1
Pig 10
Rabbit 5
Sea Lion 12
Sheep 12
Squirrel 10
Wolf 3
Zebra 15




The line plot of the average life spans of the animals in the table is given below
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Answer 76MYS.
Consider the table of average life spans of 20 different animals:

Life Span
Animal

(years)
Baboon 20
Cow 15
Elephant 40
Fox [
Gorilla 20

on

Hippopotamus | 2

Kangaroo 7
Lion 15
Monkey 15
Mouse 3
Opossum 1
Pig 10

Rabbit

[} ]




Sea Lion 12
Sheep 12
Squirrel 10
Wolf 3

Zebra 15

| -

h——-y

The line plot of the average life spans of the animals in the table is given below

Counting the ticks from 7 to 16 in the above line, it can be observed that there are
animals’ lives between 7 and 16 years.
Answer 77MYS.

Consider the table of average life spans of 20 different animals:

Animal Life Span
(years)

Baboon 20
Camel 12
Cow 15
Elephart 40
Fox 7
Gorilla 20
Hippopotanus 25
Kangaroo 7
Lion 15
Monkey 15
Mouse 3
Opossum 1
Pig 10
Rabbit 5
Sea Lion 12
Sheep 12
Squarel 10
Wolf 5
Zebra 15




The Ilme plot of the average lfe spans of the anmmalk m the table & gmen below
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Countng the ticks at 15 m the abowve Ime, # can be observed that the munber occurs
most frequently.

Answer 78MYS.
Consder the table of average lfe spans of 20 ddferent ammals:

Amimal Life Span
(years)
Baboon 20
Carnel 12
Cow 15
Elephant 40
Fox 7
Gorilla 20
Hppopotarmus 25
Kangaroo 7
Lion 15
Monkey 15
Mouse 3
Opossum 1
Pz 10
Rabbz 5
Sea Lion 12
Sheep 12
Squarel 10
Wolf 5
Zebra 15




The lne plot of the average lfe spans of the ammalk m the table © gwen below

32 36 40

Countmg the ticks at 15 m the above lme, it can be observed that the munber OCCUrs
most frequently.
Answer 79MYS.
Consider the expression
19+5-4
The objective is to find the given sum.
First, multiply 5 and 4
19+5-4=19+20
Now, adding 19 and 20
19+5-4=19+20
=39

Therefore, 19+5.4= .

Answer S80MYS.
Consider the expression

(25-4)+(2*-1*)

The objective is to find the given sum.

First, evaluate the powers

(25-4)+(2° 1) =(25-4)+(4-1)
Subtract 4 from 25 and 1 from 4
(25-4)+(2*-1')=(25-4)+(4-1)

=2]1+3
Dividing 21 by 3

(25-4)+(2*-1")=[1].



Answer 81MYS.

Consider the expression

12+4+15-3

The objective is to find the given sum.
12+4+15-3=3+15-3 Dividing 12 by 4
=3+ 45 Multiply 15 by 3
=48 Add 3 and 45

Therefore,
12+4+15-3=[4§]

Answer 82MYS.
Consider the expression
IE(IQ-IS}-E-H
The objective is to find the given sum.
12(19-15)-3-8=12(4)-3-8 Evaluate the inside grouping symbols
=48 -24 Multiply 12 by 4 and 3 by 8
=24 Subtract 24 from 48

Therefore,

12(19-15)-3-8=24]

Answer 83MYS.

Consider the expression

6(4°+27)

The objective is to find the given sum.

6[43 + 21) = 6(64 +4) Evaluate the inside grouping symbols
=6(68) Multiply 64 and 4

=408 Multiply 6 and 68

Therefore,

6[43+22]= 408



Answer 84MYS.
Consider the expression

?[4’ -:(4+3)]+7+2
The objective is to evaluate the given expression.
T[-’f -2(4+ 3]]+T +2= 7"[43L - 2[5}]+ 7 +2 Evaluate the inside most expression first
=7[64-2(5)]+7+2 Evaluate power inside
grouping symbol
= ?[64— 1[}]-5- 7 + 2 Evaluate expression inside grouping symbol
= T[54)+ 7 + 2 Evaluate expression inside grouping symbol
=378=7+2 Multiply 7 by 54
=54 42 Divide 378 by 7
=56 Add

Therefore,

?[43-2(4+3}:|+?+2=



